
<AC �>B=?9�726
1. ℄ A,B,C "X�nJ	~�[r^S�jW"l" 	(mj��j"l" �
2. $ZxY 5 %�w�h 3 %Y�^m	V'o6�Y�%	nJ�6�hNY�^m�Y��" �
3. K P (A), P (AB), P (A∪B), P (A)+P (B)b([�~,8s
 �
4. !!�h 4 �$C� 2 ��C	K�OF 2 Æ	fo$CY��" �
5. ℄ P (A) = P (B) = P (C) =

1

4
	P (AB) = P (AC) = P (BC) =

1

8
	P (ABC) =

1

16
	~nJ A,B,C ��[r^S�Y��" 	�mr^S�Y��" �

6. ℄ A,B "��nJ	 P (A) = 0.5 	 P (AB) = 0.3 	~ P (AB) = �
7. Q�h"���LYYC	"CY�|o�CY 2 �	(v0^TJFC	~_ k JFY�CY��" �
8. �4^7�t 0 < y <

√
2ax− x2(a "�6|) "�S`	`�|�t"O�EnY��lEnY�5>��	~r`��`Y�2l x�YCO9j π

4
Y��" �

9. *��=tY�[TJ" kr(k = 1, 2, 3, 4, 5) �b2�)��[" r Yt�"��[x#" 3r � 5r Yt-�|�[" 5r Yt�OFS`	~�`�|�[" 2r Yt"Y��" 	�|*h2�YEn"Y��" �
10. |7" L Y2k AB ZOX^��` L 9 M 	~ LM Y7i9j AL Y��"�
11. ��N�4^%X��" 1, 2, 3, 4 Y��uH	~;�h 1 N%X 2 �uHY��" �
12. | 5 �vA�	h 2 �#��Ng	0��rg	~_XJ;���NgY��"�
13. 0h 10 J�v41	6� 6 J�1	 4 JJ1	0K�OF 3 J	~FXY 3 J��[h 1 JJ1Y��" �
14. �MIYgM�
h 0 ∼ 9 �
�|#�OF 6 �|'>�|#yE�|�	~d(�Y 6 �|#'>gM�
Y��" �
15. �=qh 50�Y�'dQ�	h 65�Y�'d!�	h 85�Y�'�[d������YS�	���ed�����Y�'Y�x�" �
16. K 5}(�Yt
�OF 4Æ	��nJ� 4Æf(+l�Y��" �
17. S� A,B �nJ�& P (AB) = P (AB) 	A P (A) = m	~ P (B) = �
18. OFS��| N 	~ N2 Y(%S%|" 1 Y��" 	N4 Y(%S%|" 1 Y��" �0�8:6

1



1. ℄ A,B,C "X�nJ	.�nJ�l A &BYnJo ( )

(a)AB ∪AC (b)A(B ∪ C)

(c)ABC (d)A ∪B ∪ C

2. lj��nJ A,B 	h P (A−B) = ( )

(a)P (A)− P (B) (b)P (A)− P (B) + P (AB)

(c)P (A)− P (AB) (d)P (A) + P (B)− P (AB)

3. Q�h 5 ÆC (3 $ 2 �) 	�JF 1 Æ	)v0^F�J	~_qJFW$CY��" ( )

(a)
3

5
(b)

3

4

(c)
1

2
(d)

3

10
4. V A ⊂ B 	 A ⊂ C 	 P (A) = 0.9 	 P (B ∪ C) = 0.8 	~ P (ABC) = ( )

(a) 0.6 (b) 0.7

(c) 0.8 (d) 0.4

5. 3 �N�[j#^x+W 4 �uHYOSHG	~��
YuH�;h 2 NY��o
( )

(a)
3

64
(b)

3

16

(c)
9

64
(d)

5

32
6. SQ�hO93�Y 7 ÆC	6� 4 Æ�C	 3 Æ"C	0K�OF 3 Æ	nJ��[h 2 Æ�C�Y��o ( )

(a)
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35
(b)

18
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(c)
4

35
(d)

4
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7. V��nJ A l B �eE0Y�� P (AB) = 0 	~ ( )

(a)ABo(j#nJ (b)AlB"&BnJ
(c)AlB"l|nJ (d)AB(S
o(j#nJ

8. Xy>�4^�7��" I,II,III,IV Y��e�	~ II �e�";�hSy>Y��o ( )

(a)
9

32
(b)

9

64

(c)
27

64
(d)

3

64
9. nJ A "l�E4198	V41�8�	~6l|nJ A " ( )

(a) E41�82V4198 (b) E41�8
(c) E41�8AV4198 (d) V4198

10. nJ A,B &B	A P (A) = 0.4 	 P (B) = 0.3 	~ P (BB) = ( )

(a) 0.12 (b) 0.3

(c) 0.42 (d) 0

11. ℄ A l B &(3R	A P (A) > 0 	 P (B) > 0 	~.�T��n
�JYo ( )

(a)A l B "l|nJ (b)A l B &(3R
(c)P (A−B) = P (A)− P (B) (d)P (A−B) = P (A)

12. ℄ Ω = {x | − ∞ < x < +∞} 	 A = {x | 0 ≤ x < 2} 	 B = {x | 1 ≤ x < 3} 	~
AB = ( )

(a) {x | 0 ≤ x < 1} (b) {x | 0 < x < 1}
(c) {x | 1 ≤ x < 2} (d) {x | −∞ < x < 0} ∪ {x | 1 ≤ x < +∞}
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13. ℄ P (A) = m 	 P (B) = n 	 P (A ∪B) = k 	~ P (AB)( )

(a)m− n (b) k − n

(c)m(1− n) (d)m(1− k)

14. |eHH� T "YO��H	�>�[j#^XTs\4�S����>�YeHH�9j t 	~s\4vW�M	~s\4vW�MY��" ( )

(a) t
T
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t
T
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(
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T
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(

1− t
T

)2

15. |7" l Y2k AB ZOX� M,N �`	~�XYX�2k7if(;��S�
� a
( l

3
≤ a ≤ l

) Y��" ( )

(a) a
l

(b)
(

1− a
l

)2

(c)
(

1− 3a
l

)2
(d) (b) 2 (c)4�15�;36
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(6) �3�^S�"Y(�:&�(\:&�F
(�:&(�j C1 	(\:&(\j

C2 ��
2. �E.��,��:>|	�:(>|

(1) A ∪B = AB ∪B;

(2) (A ∪B)C = ABC;

(3) V A ⊂ B 	~ A = AB �
(4) V A ⊂ B 	~ B ⊂ A �
(5) V AB = Ø 	A C ⊂ A 	~ BC = Ø;

(6) (AB)(AB) = Ø;

(7) AB = A ∪B �
3. 4�h 3 J�OY41	x#!h 1, 2, 3 �	r<E.��4rNYO�oH	&���:o�a�?�
(1) K4�OF�J�
(2) K4�OFSJ	(v04�	{OFSJ�
(3) K4�OFSJ	v04�	{OFSJ�
(4) K4�(v0^Q�DF41	
WFW 1 �41�
4. V A	B	C o�4nJ	��.��,kY��XY
(1) ABC = A�(2) A∪B∪C =

A � (3) AB ⊂ C � (4) A ⊂ BC �
5. |��J^�OIS��J	WnJ A "lIWYo!�J	nJ B "lIWYN(+,:�	nJ C "lIWYNozes� (1) "z ABC 9 ABC � (2) f��J.>| ABC = A � (3) �e>| C ⊂ B � (4) �e�e>| A = B 9 A = C �
6. Æ!d 10 ��=t'>	�[x#" r1, r2, · · · , r10 	A r1 < r2 < · · · < r10 	WnJ

Ai "l��`|�[" ri Yt"	rFz.�nJYXY�
(1)

6
⋃

i=1

Ai � (2)
8
⋂

i=1

Ai � (3)A2A3 �
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7. r�

n
⋃

i=1

Ai = A1 +A1A2 +A1A2A3 + · · ·+ A1A2A3 · · ·An−1An&l n = 4 	)E'��
8. "�IV�d��)�g-}S�O�oH	
Yh�nJ	&h�S��
���
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11. ��.�[k

(1)

(

n

1

)

+ 2

(

n

2

)

+ 3

(

n

3

)

+ · · ·+ n

(

n

n
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= n2n−1

(2)

(

n

1

)

− 2

(

n

2

)

+ 3

(

n

3

)

− · · ·+ (−1)n−1n

(

n

n

)

= 0

(3)

a−r
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a
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)(

b

k
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=

(
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)

12. h 50 J41	6�h 5 JJ1	6ke"�1	0K�OF 3 J	rD

(1) FW 2 JJ1Y���
(2) �[h 1 JJ1Y���
(3) �[h 2 JJ1Y���
13. K 0 ∼ 9 �
�|#�OXIEX�(�Y|#	rD.�nJY��

(1) X�|#�(� 0 l 5 �
(2) X�|#�(� 0 2(� 5 �
(3) X�|#�� 0 T(� 5 �
14. !!�h 10 �C	x#!h 1 ∼ 10 Y�
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(1) (9�
" 5 �
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(3) �[hS��
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(4) S��
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35 �Y�'	dw C �Yh 30 �Y�'	�edw A �l B �Yh 10 �	�edw A �l C �Yh 8 �	�edw B �l C �Yh 5 �	�edw A,B,C �Yh 3 ��rD.�nJY��

(1) Ædw A �Y�
(2) ÆdS���Y�
(3) ��d�����
(4) �[dwS����
(5) (dwOS����
(6) �mdwS����
16. 0h 10 �w	6���
w	S
 3 
	�S
 4 
	OX^�
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S
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(2) �
�"v|S8�
(3) �
��[hS
v|S8�
(4) �
�"v|S8	.�D
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17. K��" 1, 2, · · · , 10Y
�f/�OFS�	hv0^/%F 7J	�J�.�
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(1) 7 ���H(3��
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(3) �� 10 ;�E0�J�
(4) �� 10 �[E0�J�
18. Q�h n ÆC	�h�
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 (1) OXFE 2 C	�
" 1 	 2 � (2) OXFE 3 C	�h�
 1 � (3) OXFE 5 C	�
 1 	 2 	 3 ��[E0 1 ��
19. Q��h 1, 2, · · · , N �YC�SÆ	,b (1) hv0� (2) (v0tk�C	rD|_ k J�CeuJ�W 1 �CY���
20. Sq��e�hf5Y�t��b> 1000��OO9Y9�t��K�:9�t��OFS�	D�S9�t�Y���hf5Y���
21. OFS�| N 	D N3 Y(%��|#e" 1 Y���
22. K| 1, 2, · · · , n �OF��	D�X�|	�"'|Y���
23. K 0, 1, · · · , 9 �OFhv0^�F 4 �|	&
E0Y/%JG(�	D.�nJY��

(1) A1: ��|#'>S�%|�
(2) A2: ��|#'>S�%'|�
(3) A3: ��|#� 0 ;�E0�J�
(4) A1: ��|#� 0 �[E0SJ�
24. S*bÆK℄1gj9eeh 6 %?m	℄�%?m|
1�YO�S1wgYj#B3��rD.�nJY��

(1) A: ��
YS1h�%?mwg�
(2) B: �h�%9�%WZY?m|�S1wg�
(3) C: ;h�%?m|�S1wg�
(4) D: �[h�%?m|�S1wg�
25. K 6 }(�Yt
�OF 4 Æ	(6�;hS}+lY��om[�
26. K 1 ∼ 9 �\���|�	hv0^F 3 J	�JOFS�	D�XWYX�|	5#� 10 �FY���
27. m �!�� n �&�� n ≤ m ��4^M t�+.	rDOX��&�f(3�Y���
28. �xh�(��E�VqN�Eh� a 	u
~/aX^~`XH*h�	0UhX^	EqaS~	�e[��
h'	VqNh>3�	(_S�x+h�	+�
2 x�
29. K 52 �3k)�OXFE 13 �	D
 (1) h 5 �"�	 3 �$=	 3 �tq	 2�.(Y��� (2) )?x)" 7 - 3 - 2 - 1�(7(Yh 7 �	(j(Yh 1 �	6kq(Yx#h 3 �9 2 ��Y���
30. ?)g-���N�K 52 ��)�xX 13 ��	D 4 � A 8�|S�Nt�Y���
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31. KS{3k)Y 13 �"��	S�QS�^hv0^DF 3 ��D.�nJY��

(1) �h���
(2) h���
(3) �mh�����
∗32. |3k)g-��K 52 �)�OF 5 ��	D.�nJY��
 (1) W A N�Y�(�J*�)� (2) 6	�(�J*�)� (3) h��)�`|� (4) X��`|A���Q�`|� (5) *��(� (6) Z(�J*�)� (7) X��`|	����(�`|�

(8) *��h�l� (9) *��hSl� (10) 6	Br�
33. KS{3k)�hv0^S��DF	D|DF_ 6�eXWH* 4�(YY���
34. V P (A) = 0.5 	 P (B) = 0.4 	A P (A−B) = 0.3 	D

(1)P (A ∪B) � (2)P (A ∪B) �
35. ℄nJ A,B Y��x#" 1

3
l 1

2
	|.�X�(�Br.x#D P (BA) Y��

(1)A l B &Be� (2) U A ⊂ B e (3)P (AB) =
1

8
�

36. K�h�
 1, 2, · · · , N YCY4!�hv0^�� n JC	TJ�.6�
	rD�:�

K�Z_JG(�Y���
37. |Z���:�

Z_�(S
K��JG(�Y���
38. OXK|� 1, 2, · · · , N �(v0^FE n �|&
O9(�>
 x1 < x2 < · · · <

xm < · · · < xn 	rD xm = M Y����y 1 ≤ M ≤ N �
∗39. Z��	V,bhv0F|	�e x1 ≤ x2 ≤ · · · ≤ xm ≤ · · · ≤ xn 	rD xm = MY���
40. Q�h a Æ"C� b Æ�C	KQ��J)v0^�ESC	
WQ�`.YCHo�LY"
	D`.YH""CY���
41. K n }(�Y;!�OF 2r(2r < n) Æ	D.�nJY��

(1) �h>lY;!�
(2) ÆhSl;!�
(3) ;h�l;!�
(4) h r l;!�
42. pQ�h n− 1 Æ"C9 1 Æ�C	�JKQFESC	&/T 1 Æ"C	SIBH.G�D_ k JFW"CY���
43. K 1, 2, · · · , N ��Jhv0^OFS|	�F k(1 ≤ k ≤ N) J	D.�nJY��

(1) A:k �|#H(3��
(2) B: (� 1, 2, · · · , N ��
Y� r �|#�
(3) C: ��
YS�|#;�E0 m(m ≤ k) J�
(4) D:k �|#�Y(O|" M(1 ≤ M ≤ N);

(5) E:k �|#K�Z_�
44. E�V�%XN
.�Y�~XA�W	_S^E�V-Dn%
o	d_S^Y
a�l%XA_q^�W	nb��
o	�Wb��tkXAW6�SN�a�^"
	�a�^�"�5�WY
a�	VE�V�%a�^Y��e" 1

2
	(E�V�%>"�5�WY
a�Y���om[�

45. K (0, 1) ��4^F��|	D.���
 (1) �|	�9j 1.2 � (2) �|	59j 0.25 � (3) WZ��PD�e�&�
46. K (0, 1) ��4^Fq| b 9 c 	rDt� x2 + bx+ c = 0 hh	Y���
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47. |S�NZt�Y�Z�S�
[" 1 Ya�	t�Pm9+#ia�l2(3NY��9j 1% �
48. �
�Æ#R SÆG	0p��QKg|sW�ÆG	A| 24 9e"�elsWYj#Bf3[	S�
�CP�iYeHx#" 3 9e9 4 9e	rDhSGP|L�[RY���
49. �Nu
j 7 `W 8 `|�^1�	rDSNP[�SN�9eWZY���
50. |S2k AB ��4^F��`�2kS"Xk	D�XkjW�>S�XO�Y���X2k#�>XO�YCP�JoOXq�	�Oj_X���
51. |2k [ 0, 1 ] ZOX�X�`	(d 0 �X`YX2k#�>XO�l(#�>XO����nJ��S�nJY��O�
52. |�2�ZM
2 AB H
^� S:�[" r Y3�Yt��	6�=	HYH�" l �WOi α 7
2�S�[" R YC�S�CYze�6l
2 AB [j#^3NjO�S`	DClt��3-Y���
53. |�[" R Yt�Z* A,B,C X`	XO� ABC "UOXO�Y��"m[�
54. ℄ A1, A2, A3 W9 A e"�4nJ�
(1) S�U A1 l A2 �er^e A �r^	��

P (A) ≥ P (A1) + P (A2)− 1;

(2) S� A1A2A3 ⊂ A 	��
P (A) ≥ P (A1) + P (A2) + P (A3)− 2.

55. ℄ A1, A2, · · · , An o�4nJ	rb� s��.�
k

P (A1 ∪ A2 ∪ · · · ∪ An) =

n
∑

i=1

P (Ai)−
∑

1≤i<j≤n

P (AiAj)

+
∑

1≤i<j<k≤n

P (AiAjAk)− · · ·+ (−1)n−1P (A1A2 · · ·An)

56. ��h N �m$	�N�hS�=	�:=�� HSO	|SJRHW:8 �	V�N�4^F%S�=	(�[hS�N�W"=Y=Y���
∗57. |Z��D;�h k (0 ≤ k ≤ N) �N�W"=Y=Y���
58. hre�h N �h<	 n �J^-Dhr (n ≥ N) 	�D�Yh<|lv0	D|hrT{	%	�[hS�h<�h�DWY���

∗59. zb���Y5s��.�#[k

1 +

A− a

A− 1
+

(A− a)(A− a− 1)

(A− 1)(A− 2)
+ · · ·+ (A− a) · · · 2 · 1

(A− 1) · · · (a+ 1)a
=

A

a6� A 	 a fo��|	A A > a �
∗60. KSÆ�h 100 ÆZ*Y4!�OD 5 ÆZ*	r0h 2 ÆoJ1	$lI.Z*YJ1|*�Æ?����D2UKb(v0tk��Pb(O�KÆ?s�XT�lb0�Æ?��sYT�oz3���
∗61.��Is8�g18�℄h�, 108K	SY)f*"�I�T��o�g1Q�	�QSf	rD
Æ n Q��g1n#s7H
)fY���
∗62. b���5sD N RA�kY�gk����lO2q�Y6|�
63. h w Æ�Cl b Æ"CO$vT��Q!�	L$Y,i�4DSQ&K��ESÆC	$KS�)Wi$Y,i�X"CY��(O�
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∗64. E	V	%XN
.��~XA�W	_S^dE	V-Dn%
o	d_S^Y
a�l%XA_q^�W	nb��~
o	�Wb��tkS
XAW6�S�N�a�^"
	�a�^�>"�5�WY
a�	VE	V	%a�^Y���" 1

2
	(E	V	%>"�5�W
a�Y���om[�

∗65. }	�	!XN_A�W	�^$hSNaSN~��h�^�	�^Y
a�℄l$-DI^YN{XA�W	S��Nu/a��^	~	℄o���WY
a�	d}d
_S^d��N-D	6�o!h}(>	�W}"�i"=XaY��MW(O	℄d
_S^d	l4!/�W	r�}Yd/"(
/	�O�SlIt�SNaltY��|���W�o( Y��
66. �
 p = P (A) 	 q = P (B) 	 r = P (A ∪B) 	D P (AB) 9 P (AB) �
67. ℄ p1 	 p2 	 p12 o�
Yh|	r�L|��nJ A1 9 A2 iX P (A1) = p1 	

P (A2) = p2 	 P (A1A2) = p12 YCP�Jo.���([k�e>|

p12 ≥ 0, p1 − p12 ≥, p2 − p12 ≥ 0, 1− p1 − p2 + p12 ≥ 0

68. ��
 ∣

∣P (AB) − P (A)P (B)
∣

∣ ≤ 1

4
	&��[�>|Y�J�

69. D��nJ A 	 B Y(9 σ n�
70. ��
 (1) Ω YS�!8'>Y8voS� σ n� (2) σ n	NP" σ n�
71. ��
��S��" (−∞, x) YEHY(9 σ noS#'up σ n�
72. (1) ℄ Q o
Y| σ nZYw~�Yh��|�;jWFh12)1�Y�|�	S�
`hj�jDB	&A Q(Ø) = 0 	~< Q " ./ 	r��0i�%o�y�?|�%9<��7i��5��5[�%Y��� (2) b0i�%Up�a�?�<���9���
x+T���j��Y
Y�
73. r�
��
Y 1.5.2 �YX�PDjb.���PDP�

(i) P (A) ≥ 0 	lS� A ∈ F �
(ii) V Ai ∈ F , i = 1, 2, · · · 	��&(3R	A ∞

∑

i=1

Ai = Ω 	~ ∞
∑

i=1

P (Ai) = 1 �
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